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(EHM) | seEs1ANy (5M) (HEHM) § EEHFi ALy (7m)
1 [dbTwims | 1,245 [AEJWNTT | 55,083 [AEJWIN T | 1,934,508 Xij FHIET 12,476 [ALJWNT 687,374 iFE 8,104 | 1
2 |t&E 1,041 |f&Mdrh 23,974 [XTHET | 1,091,030 PEASTT 10,656 |XijHHET 409,636 iXij FHAT 4,630 | 2
3 | AR KT 493 |AREKT 13,231 |E&T™ | 1,044,338 {5 & 10,022 |#& M 207,051 iFLEREFHT . 4,095 | 3
4 | KXJIH 341 BT 11,270 |f& 591,101 iBUEREFTH| 7,114 |[FAATH 103,265 iilA T 1,958 | 4
5 |fEFETH 194 |XijmEET 9,878 |HisEHEFT | 388,807 PKZRHM 4,480 |EA T 93,429 iKMW 1,456 | 5
6 [W)ilT 182 | 8,592 | KM 282,654 iFlETH 4,312 | KEMET| 90,799 idbJu T 1,389 | 6
7 B 172 | KJI 4,077 |#AAT 267,064 /A LLIET 4,230 |ABKIT | 82,740 &l 1,375 | 7
8 |KAMH 171 | KAEHTT 7,035 |AREKT | 249,950 HAbJuNH L 3,839 | 82,313 ERSEMTH | 1,249 | 8
9 | KBy T 168 |fiREE 6,967 | &M 190,891 iACZNT 3,763 |FEEEFTH | 80,733 PRJIVENT 1,215 | 9
10 |\ i 163 |E 5 6,114 |BERTH 179,584 ¥ FHT 3,504 & 71,873 LT 1,162 | 10
11 [s#a 140 |tk 5,635 [THEH 142,041 HTHGETH 3,061 |8 68,209 AE)I[HT 1,138 | 11
12 |tk 137 |#ah 5,231 |HitgH 135,432 iEEJIIMT 2,864 |HitgTi 58,922 A ILIAT 1,114 | 12
13 |ZE T 128 |fT#&h 5,035 |E 5 129,112 &M 2,650 |E 5 49,101 5 RIT 1,060 | 13
14 | 5EH 119 |HrehT 4,072 |HrEnT 95,141 T 2,619 |Hr=nT 38,548 i AT 1,041 | 14
15 |F3=mT 115 |l 4,019 |HE 92,472 PKJIVEMT | 2,577 |EmiTh 29,516 R 970 | 15
16 |fThem 90 |Bgirrh 3,581 |§&FmT 85,413 24T 2,554 [#0)IlTH 27,286 I/MTHT 969 | 16
17 |ZhkrT 90 | KBS 3,287 |E-mi 80,262 fliFTH 2,516 [\ Zii 26,650 4ETHT 963 | 17
18 |AoE 89 [N\ZTfi 3,093 [#)1lTH 77,128 iHiJE T 2,471 |$&F0T 23,151 Ve 957 | 18
19 =y 83 |mJIl 2,507 |ARCZHT 71,324 irPETH 2,432 | RJIT 21,367 i _SCHT 949 | 19
20 |HLEREF T 74 |¥FHT 2,489 |\ L 66,776 E-FT 2,409 | RBP4 | 19,001 O 944 | 20
21 [D&iEm 73 | 2,403 |@JIT 55,105 i[JIITT 2,391 [ATHGmh 18,852 (HTEHT 938 | 21
22 |Xii FHET 72 |FEEmT 2,378 | KJIITHT 53,805 & 2,362 |1 18,714 iR 922 | 22
23 |J&)IHT 70 |ZEFEET 2,343 |F-3EHT 48,422 iF-3EHT 2,327 |==Bm 18,565 iFLAIAT 922 | 23
24 ko)=Y 70 |HLEREN 2,297 |IE)11ET 45,084 I/NERT 2,311 |IE)11ET 17,761 if@mAH] 912 | 24
25 |E ST 69 |/&)I1ET 2,113 |zamm 42,340 iE ™ 2,269 |ZEFENT 17,041 iFHAT 905 | 25
26 | g 68 |AOZHT 1,958 |H&ixm 39,838 iFTEMT 2,269 |MJIITH 16,656 E-EiTHi 901 | 26
27 |'=& 67 [DxiEm 1,936 [ KBk 39,726 HLKHT 2,261 |zakmh 16,299 &M 877 | 27
28 |$5TH] 60 |ka=ET 1,877 |ZERERT 37,224 &M 2,211 |F==nT 16,224 {E 5T 877 | 28
29 |JREar) 1| HT 60 | A 1,820 |ALET 36,253 FHH 2,195 |ARCZHT 15,639 iJ&JIIHT 876 | 29
30 |mJIT 59 |HAIHET 1,745 =& 35,484 iJK)I[HT 2,184 |KJIPERT| 15,138 LJI[HT 871 | 30
31 | T 58 |tEHET 1,617 [HMEH 34,213 ERSEFM | 2,083 |HanHT 14,732 i BEAT 866 | 31
32 |SLRIAT 54 |FRIT 1,475 |f&ERT 33,918 IHLATAT 2,026 [HI=MT 14,354 (AP HT 834 | 32
33 | RKHT 53 [ ET 1,371 [F)=AT 33,840 /MTHT 1,983 [HME 12,761 @R 827 | 33
34 |=Grh 50 |ESHT 1,322 |SURiieT 33,094 I 1,930 |f&EHET 11,484 |GEEET 813 | 34
35 | RJJVENT 45 /AR 1,300 [KXJIVERT 32,962 HEEM 1,929 |f@meEr 10,019 iF7EHT 793 | 35
36 | R 45 |AKEHET 1,251 |/NEBTH 32,452 i HHET 1,878 |/NERH 10,013 iFHT 757 | 36
37 | K=EMRTH 45 |tEEHET 1,222 |f@eEm 25,134 izl 1,856 |ALET 9,464 ZHFEHET 752 | 37
38 A 41 | RAKHT 1,222 |mHT 22,899 i AT 1,846 |&HT 8,972 EEEMT 748 | 38
39 |SrAERT 39 [ K=HH 1,182 [A&HT 21,057 i%E AT 1,838 |im72HT 8,599 i ARMT 745 | 39
40 | AT HT 38 | X JIvERT 1,146 |&GsamT 20,427 UAREKH | 1,827 | KSEMFT 7,743 {HJIITH 732 | 40
41 |FHH 36 |GEEET 1,074 |mi)srf 18,132 i =MAT 1,813 [ E=EHT 7,671 izEkm 728 | 41
42 |KERT 35 | 939 |EEJIIAT 17,023 P\ 1,757 |/IART 7,657 HIRETJIAT 727 | 42
43 |fEETh 34 | E&HET 925 | EENT 16,738 fiLJIHT 1,749 |AK&RHET 7,163 I\ 724 | 43
44 |t mT 30 |/ALLET 891 |/IFrRT 16,044 GEEET 1,715 |#EZERT 7,160 LINERTT 722 | 44
45 |fESERT 29 |BREar)IHT 885 |MEZEHT 14,416 i —OCHT 1,684 | —LHT 6,829 )1l 693 | 45
46 | HUIGFT 28 |&HE 841 [KAHT 14,136 {FART 1,674 |EEJIIET 6,635 gulT 688 | 46
A7 /MY 28 |l HE AT 837 [MAmHT 13,979 i/ACENT 1,646 |MamHET 6,010 i/ FHET 677 | 47
48 | sE AT 27 /MY 789 |EFHTH 13,764 mR] 1,637 |miEr 5,964 IAEMT 668 | 48
49 |/NEBTH 24 | —3CHT 764 |[WFEET 13,758 iZEFEHT 1,605 |JRAKHT 5,753 i RKRHET 666 | 49
50 & FA] 24 AR 698 | K=K 13,293 {KAHT 1,605 |FELEHT 5,610 i[IERT 636 | 50
51 |#E)I1ET 22 |STAEHT 647 | —3CHT 12,465 Sf=AT 1,533 [BRE)I[HT 4,918 IARKTH 633 | 51
52 |&GEERT 21 | &AW 599 [HARE)IHT 9,870 iEsulT 1,632 |&EA S 4,662 iKEFHETH 633 | 52
53 |EAKHT 20 |17 585 |EEENT 9,080 i[jHEMT 1,531 [ZHEEHT 4,203 626 | 53
54 /AT 18 |&F&ENT 557 | &FFMT 7,289 EEENT 1,468 |&F&MT 3,839 :JI[AFHT 593 | 54
55 | —LHT 17 |:GEERT 538 |FL EHT 7162 iJI|IFFAT 1,430 |7 =0T 3,533 SR HMT 586 | 55
56 |4 KT 16 |%E EHT 386 |SZAFHT 7,137 BREJINT | 1,422 |SZAERT 2,901 iACERRT 568 | 56
57 |11 16 |7 =0T 301 | HET 6,591 it@Hm 1,384 [1LJImT 2,455 it@HT 563 | 57
58 |7 =HT 14 |)IIFFHT 260 |7 =T 6,169 iKJIT 1,298 | HET 2,333 iRJIT 527 | 58
59 | EFHT 13 [BoARRT 237 |EKHT 5,740 iKTFEHT | 1,294 |JINRHET 2,272 iSLACHT 516 | 59
60 |i5 & 10 |Hlgry 235 [JIIFFHT 5,593 iNLAEET 1,243 |HAKHRT 1,859 iR EAf 485 | 60
61 |EFAT 9 |¥sHHET 107 |Ljimy 5,052 i KALHT 1,182 |FE_EHT 1,665 i K{EHAT 484 | 61
62 | Rt S ENEL) 101 |HlgER: 2,708 iSEFAT 1,100 |sRERS 1,115 iHEERT 477 | 62
63 [FAMEHT 8 | KRAIEHT 89 | KAEHT 2,357 HEE AT 1,080 |KAEHT 948 iFL AT 432 | 63
W ENEL) 6 | RHAT 85 |-k HHT 1,048 : HUEARS 970 |k AT 617 ATHEN 409 | 64
65 | RALHT 5 |EEBPAT 82 | R B AT 978 ik HMT 965 |ZEBFAT 422 PHIERS 408 | 65
66 |JRFT 3 |[FRFS ICRES ) 547 PRERFS 643 |RHEAT 263 P RHEAT 317 | 66
67 Vs T 272 iIRAT 450 |USHIT 123 iARAT 170 | 67
68 IRFF 110 i¥SHHET 345 [JRAT 41 iFSHET 160 | 68




